Week 4 Wednesday year 5 LA
[image: Text

Description automatically generated]











[image: Table

Description automatically generated]








Answers year 5 LA
[image: Text, letter

Description automatically generated]
[image: Graphical user interface, text, application, email

Description automatically generated]
image1.png
. Olivia went out for a walk. She walked + of a mile and then sat down to take a
rest. Then she walked + of a mile. How far did she walk altogether?

. Noah made two types of biscuits. He used 2 cup of sugar for one recipe and +
cup of sugar for the other. How much sugar (in cups) did he use in all?

. < of the coloured chocolates in a bag are red and 15 are blue. What fraction of
the coloured chocolates is red and blue?

. Emily has 15 of a chocolate bar. Nathan has 35 of the chocolate bar. How much
do they have together?

. Grace ran ¢ of a marathon. Anita ran 2 of a marathon. Who ran further?
What fraction further?
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. James is having a pizza party. Each person at the party eats 3/8 of a pizza. If 6
people attend the party, how many slices of pizza did James need?

. Lucy walked 1/6 of a kilometre each day for 8 days. How many kilometres did
she walk in total?

. Tina swam 3 of a kilometre on Monday, Tuesday, Wednesday and Friday. How many
kilometres did she swim in total?

. Jack baked some trays of brownies for his 5 friends. He is going to give each of his friends
4/6 of a tray. How many trays of brownies does he give away?

. Five children share some pizzas. Each child eats 2/3 of a pizza. How many pizzas are eaten?
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. James is having a pizza party. Each person at the party eats 3/8 of a pizza. If 6 people
attend the party, how many slices of pizza did James need?

6x3/8=18/8=22/8=22/8 =2 pizzas

. Lucy walked 1/6 of a kilometre each day for 8 days. How many kilometres did she

walk in total?

8x1/6=8/6=12/6=11/3km

. Tina swam 3 of a kilometre on Monday, Tuesday, Wednesday and Friday. How many
kilometres did she swim in total?

4 x 3/4=12/4 = 3km

. Jack baked some trays of brownies for his 5 friends. He is going to give each of his friends
4/6 of a tray. How many trays of brownies does he give away?

5x4/6 =20/6 =32/6 =31/3 trays

. Five children share some pizzas. Each child eats 2/3 of a pizza. How many pizzas are eaten?

5x2/3=10/3 = 31/3 pizzas




